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One who ties or unties — 3N RPN

OVERVIEW

Regarding the noX%n of ¥p (tearing) the mawn qualifies it that it needs to be done
with the intention of sewing it up later. Similarly regarding pmn (erasing) he is 21
only if he intends to write over the erasure. Regarding 7°n»n (untying), the miwn
makes no stipulation whether it requires the intention of retying or not. NN
explores this issue.
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Reflection is required to determine whether one is liable for =°n» without the
intent to tie, or whether he is not liable.

mooIn anticipates (and rejects) a possible resolution to his query:
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However, one cannot infer that he is liable for 7°n7 even if his intent is not MWpPY,
since the 1w does not teach MwpH 1"y o N, as it taught 29n5% 2"y P —

mooIn rejects this inference:
= 1925 N HY 90 NP RY M) 90T

For the mwn also did not teach dismantling (9n19) with the intention to rebuild -
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And nevertheless in P 9772 7»2 P95, the X3 explicitly states that we require
Maa% %"y N0 (in order to be 2°°17), even though in our 73w it is not mentioned.

mooIn offers a (tentative) resolution based on *"w15:
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And according to the way >'"w1 explained the X923, which stated ‘if he happens

upon two knots (>vp) next to each other’; >"v explains the X3 in the following
manner -

! See “Thinking it over’.
2 If 7°nn is not 21 unless it is MwP? n"y, the mwn should have stated it as it states it by (21129 2"y) prn.
3 The same can apply to 7°nn that even though our 71wn does not state Mwp? »"v 7°nn, nevertheless one is 21 only if
he is MWwpPH »"v 1. The reason the mwn does not mention »"Y in certain cases will be explained later (see footnote
#11).
4 The x7ma there asks, since all Max>n are to be found in the 19wni NoX>n, where was the 72X of 7°nn in the Noxn
oW,
> The x> explains that it was in the 19wn in a case where he chanced upon two knots >7777 >7772 in a weave, he
would be 1 WPy 71 W
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He found the two knots by two threads one next to the other (both threads had a
knot), so, continues the X713, he unties one knot and leaves the other knot as is;
according to *"w1d it seems that one is liable for 7°n» even if it is without any
intent "wp®.

mooIn, however, disagrees with *"w"» there:
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However the language of 2up (ties) does not coincide with s'>''w= explanation —

mooin offers an alternate explanation:
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However the ' explained and so too it seems in 25017 720 that when a

thread was severed in two places and was tied in both places -
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We untie both knots and throw away the middle section (B) and we tie

together both ends (A and C) one with the other -
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So now there is only one knot. This concludes the 1" w17 -
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So according to this it seems that we require 21wp» 2"y 9502 in order to be 271 —

Mmoo responds to an anticipated question:
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And the reason the 71wn did not state the requirement of 1"y by 9°n% and by anw,
I explained that in the second p=5.

6 This is the meaning of 71 wPY T *W. >"w" there explains that two knots next to each other in a weave looks
unseemly, therefore we need to untie only one of the knots. [The &1 immediately rejects this supposition that one
knot is acceptable.] This 7°n» (of one knot) is MWwp? n"y 7w (he is certainly not going to tie it up again into a knot)
and nevertheless, this is the 712821 of 7°n»; proving (according to >"wA) that Mwp? "y XYW °n7 is 2°n.
7 The X »3 there reads T 90PY I W >777 772 W0 0 2 701 X7, According to >"w1D the 1 W is the one he
unties and the 717 7vp is the one which leaves knotted ("wp). However the word 7vp is a verb, meaning that he ties it.
8 We will divide the thread into three parts A, B, and C. The thread ripped where A meets B and where B meets C.
so section B is tied with one knot to section A and with another knot to section C.
° He untied both knots with the intention of retying one knot. See ‘Thinking it over’ # 2.
10 According to the 1" the mawn should have said 9yp® »"¥ 9°n» and according to everyone it should have stated
miab 2"y 1nwo.
' mpoIn there answers that the 7w only stated n"y when it needed to quantify the amount like >m 71902 2"y ypPn
N’EN or NIPNIR AW 2N37 2"V prvan, but where there is no MW like 71121 900 or Y WP he need not say it.

2

TosfosInEnglish.com



WPa AT 'oIN XAy 2w L7023

SUMMARY
According to *"w1 it seems that MWPH "y XHW °nn is 21, however according to
the "9 he 1s Mwo.

THINKING IT OVER

1. mooIn initially stated that we cannot infer (whether 2°nn must be MwpH »"y or
not) from the fact that the 7awn did not clearly state it as it did by 21059 n"v pran, 2
because it is also not stated by "mo. Why did n10In chooses 21037 n"y prn (which
is written a few MaRo» later after 7°nn), and did not choose Mon? n"v ¥y7Ip7 which
is written right after "> nna?!'?

2. Which of mpon two proofs is stronger; that 2°n» is 211 even though it is 2"y RW
WP according to *"wA, or that 7°nn is 21 only if it is MWPH n"y according to the
n'"?

12 See footnote # 1.
13 See n Hw naw.
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